
TP 3 : Lentilles minces sphériques 

 

 

 

 

 

 

 

 

 

 

 

 

 

V = 0.0524 cm-1 = 5,24  

y = 1,0305x + 0,0524
R² = 0,9987
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-30 57,3 -0,03333333 0,01745201 

-40 39,2 -0,025 0,0255102 

-50 32,7 -0,02 0,03058104 

-60 29,3 -0,01666667 0,03412969 

-70 27,2 -0,01428571 0,03676471 

-80 26,2 -0,0125 0,03816794 

-5 -6,5 -0,2 
-

0,15384615 

-7 -11 -0,14285714 
-

0,09090909 

-10 -20,4 -0,1 
-

0,04901961 

-12 -27,2 -0,08333333 
-

0,03676471 

20 9 0,05 0,11111111 

30 11,6 0,03333333 0,0862069 

40 13 0,025 0,07692308 

50 13,9 0,02 0,07194245 


